SET – III     (64/3)
	Set III
	Set II 
	Set I
	
	 Marks

	11


14
	
	
	Six sub fields of economic geography

(1) Geography of Resources 

(2)  Geography of Agriculture 

(3)  Geography of Industries 

(4)  Geography of Marketing

(5)  Geography of Tourism

(6) Geography of International Trade 

Six points of ½ mark each
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(14.1)  The Panama shipping canal                                   1 mark

(14.2)  The Atlantic Ocean in the east to the Pacific Ocean in the west.                                                                                  1 mark

(14.3)  (i) Constructed  by the U.S. government which purchased 8 

               km of area on either side 

           (ii) Shortens the distance  between New York and San 

                Francisco by 13, 000 km by sea.

                                Any one point  - 1 mark
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	6x½ = 3

1+1+1=3

	17
	
	
	Factors responsible for the development of Bangalore Chennai- industrial region 

(1) Pykara hydroelectric plant 

(2) Presence of cotton growing areas. 

(3) Several heavy engineering industries converged at Banglore 

(4) Presence of Industrial landmarks such as Aircraft  machine tools, telephone HTL and Bharat Electronics 

(5) Port facilities on both the coasts.

(6) Any other relevant point 

Any three points            1 mark each 3x1 = 3
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	3 x 1 = 3

	18

Set III
	Set II
	Set I


	Characteristics of State Highways of India

(1) Constructed and Maintained by State governments.

(2) Joins the State capitals with district headquarters and  

Other important towns.

(3) They are connected to the National Highways

(4) Constitute 4 percent of total road length in the country.

(5) Any other relevant point

Description of any three points of 1mark each
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	3 x 1= 3

Marks



	21
	
	
	Plantation Crops-

(i) Tea     (ii) Coffee         (iii)  Rubber

(ii) (iv) Banana   (v) Cocoa    (vi) Sugarcane

(iii) (vii) Cotton        (viii) Oil Palm 

(ix)      Pineapples

Any six crops of ½ mark each , 6x½ = 3 marks 

Characteristics :-

(1) Large estates or plantations

(2) Large capital investment 

(3) Managerial and technical support

(4) Scientific methods of cultivation

(5) Single crop specialization 

(6) Cheap labour

(7) Good system of transportation links the estates to the  

      factories and markets for the export

(8) Any other relevant point

Any four points of ½ marks each,              4x½ = 2 marks
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	3 + 2 = 5



	24
	
	
	(24.1) Decade showing minus growth rate is 1911-1921    1mark                                                                               

Main reasons are (i) Poor health and medical services

(ii) Illiteracy of people.

(iii) Inefficient distribution system of food and other basic  

       necessities.

Any one reason                                                        1 mark

                                                                    (1+1 = 2)

(24.2) Decade 1921 – 1951 is steady population growth 

                                                                                  1 mark

Reasons :-

 (i) Overall improvement in health and sanitation through out the country resulting in low death rate.

(ii) Better transport and communication system

(iii) Improved distribution system 

(iv) Any other relevant point

    Any one reason     -      1 mark               ( 1+1= 2 marks)

(24.3) Population growth declined in the last two decades because of -

(1) Declining birth rate 

(2) Increase in the mean age at marriage

(3) Improved quality of life improvement 

(4) Improvemet in the Education of females in the country.

(5) Any other relevant point 

             Any one reason     -      1 mark
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	1+1=2

2+2+1= 5
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